The second secon

The Water

AN ORDINANCE OF THE CITY OF MESQUITE, TEXAS, LEVYING ASSESSMENTS
AGAINST THE VARIOUS PERSONS AND THEIR PROPERTY FOR THE PAYMENT OF A PART OF
THE COST OF IMPROVING AND PAVING PORTIONS OF THE FOLLOWING STREET IN THE
CITY OF MESQUITE, TEXAS, TO-WIT:

#### PIONEIR ROAD - FROM BRUTON ROAD TO SCYENE ROAD

PROVIDING FOR THE TIME WHEN SUCH ASSESSMENTS BECOME DUE AND PAYABLE, THE RATE OF INTEREST, AND FIXING A LIEN AND CHARGE AGAINST SAID PROPERTY AND MAKE HOS SAID CHARGE A PERSONAL LIABILITY OF THE PROPERTY OWNERS OWNING PROPERTY ABUTTING ON SAID STREET, AND PROVIDING FOR THE COLLECTION THEREOF: AND DECLARING AN EMERGENCY.

WHEREAS, heretofore a resolution was duly adopted by the City Council ordering the improvement of said street by excavating or filling to the grade specified; by constructing necessary drainage facilities where specified; and by paving with reinforced concrete in accordance with the City's Standard Specifications and the approved engineering plans; and

WHEREAS, pursuant to said resolution, specifications were prepared for said work by the Director of Community Development, filed with said Council, examined, approved, and adopted by it, all as required by applicable law; and

WHEREAS, thereafter in compliance with the law, the Director of Gommunity Development prepared his statements or lists showing the names of property owners upon said street the description of their property, the total cost of the said improvements, the cost thereof per front foot and the cost of each property owner, said statements possessing all the other requisites required by law; and

WHEREAS, thereafter the said statements were filed with the City Council and by them examined and approved and a resolution was passed by said Council determing the necessalty of making an assessment for part of the cost of said pavement against property owners and their property, and fixing a time and providing for a hearing to such property owners, their agents or attractive, all in accordance with the terms of applicable law, at which hearing said owners were to be heard as to the benefits of said improvements to their property, as to any error or invalidity in said proceedings or to any matter or thing connected with the said improvements; and

WHEREAS, the said resolution in connection with the improvements of said street was duly adopted in compliance with the law on the 21st day of July , 1986 .

WHEREAS, thereafter, in accordance with the terms of the law, the City Secretary of the City of Mesquite gave notice to the property owners on said street, their agents and attorneys, of said hearing, by publishing a copy of said resolution three times in the MESQUITE NEWS, a weekly newspaper of general circulation published in the City of Mesquite, twenty-one days prior

to the day set for the hearing, to-wit, the 15th day of September 1986; and the City Secretary also gave notice of said hearing by posting letters containing the same to the property owners, their agents and attorneys, fourteen days before the said hearing; provided, however, that any failure of the property owners to receive said notices shall not invalidate those proceedings and

WHEREAS, said hearing was had at the time and place mentioned in said resolution and notice, to-wit, on the 15th day of September , 1986, at 3:00 P.M., at the Council Chamber in the Municipal Building of the City of Mesquite, Texas, which hearing was continued from day to day, and time to time, until the 15th day of September , 1986, and was then closed, and

WHEREAS, at said hearing, all desiring to contest the said assessments, correct the same, or in any manner to be heard concerning the benefits thereof, or in any other matter, were heard, and error and all matters of error or mistake or inequalities or other matters requiring rectification which was called to the attention of the Council were rectified and corrected;

NOW, THEREFORE, BE IT ORDAINED BY THE CITY COUNCIL OF THE CITY OF MESQUITE, TEXAS:

SECTION 1. That the action of the City Council closing the hearing and overruling the protests at the public hearing on the 15th September, 1986, in these proceedings is hereby ratified and confirmed by this ordinance; that the City Council, from the evidence, finds that the assessments herein levied should be made and levied against the respective parcels of property abutting upon the street hereinbelow mentioned and against the owners thereof, and that such assessments and charges are right and proper, and are substantially in proportion to the benefits to the respective parcels of property by means of the improvement in the unit or district for which such assessments are levied, and establish substantial justice and equality and uniformity among the respective owners of the respective properties and among all parties concerned, considering the benefits received and the burdens imposed, and further finds that in each case the abutting property assessed is specially benefited in enhanced value to the said properties by means of the said improvements in the unit or district upon which the particular property abuts, and for which assessment is levied and charge made, in a sum in excess of the said assessment and charge made against the same by this ordinance, and further finds that the apportionment of the cost of the improvements is in accordance with the law in force in this city and the proceedings of the city heretofore had with reference to said improvements and is in all respects valid and regular.

SECTION 2. There shall be and is hereby levied and assessed against the parcels of property hereinbelow mentioned and against the real and true owners thereof (whether such owners be correctly named herein or not), the sums of money below mentioned and itemized shown opposite the description of the respective parcels of property, and the several amounts assessed against the same, and the owners thereof, as far as such owners are known, being as follows:

<u> ئىلىدىدىن بۇرۇشۇرىي ساياسى</u>

SECTION 3. Where more than one person, firm or corporation owns an interest in any property above described, each said person, firm or corporation shall be personally liable only for its, his or her pro rata of the total assessment against such property in proportion as its, his or her respective interest bears to the total ownership of such property may be released from the assessment lien upon payment of such proportionate sum.

SECTION 4A(Commercial) The several sums above mentioned and assessed against the said parcels of property and the owners thereof, and interest thereon at the rate of eight (8) per centum per annum, together with reasonable attorney's fees and costs of collection, if incurred, are hereby declared to be and are made a lien upon the respective parcels of property against which the same are assessed, and a personal liability and charge against the real and true owners of such property, whether such owners be named herein or not, and the said liens shall be and constitute the first enforceable lien and claim against the property on which such assessments are levied and shall be a first and paramount lien thereon, superior to all other liens and claims except State, County, School District, and City ad valorem taxes.

The sums so assessed against the abutting property and the owners thereof shall be and become due and payable as follows, to-wit: on or before thirty (30) days from the completion and acceptace by the City Council of the improvements in the unit or district upon which the property abuts, and shall be collectible, together with reasonable attorney's fees and costs of collection, if incurred.

SECTION 4B. (Residential) The several sums above mentioned and assessed against the said parcels of property and the owners thereof, and interest thereon at the rate of eight (8) per centum per annum, together with reasonable attorney's fees and costs of collection, if incurred, are hereby declared to be and are made a lien upon the respective parcels of property against which the same are assessed, and a personal liability and charge against the real and true owners of such property, whether such owners be named herein or not, and the said liens shall be and constitute the first enforceable lien and claim against the property on which such assessments are levied and shall be a first and paramount lien thereon, superior to all other liens and claims except State, County, School District, and City ad valorem taxes.

The sums so assessed against the abutting property and the owners thereof shall be and become due and payable as follows, to-wit: In twentyfour (24) equal installments, the first payment on or before thirty (30) days from the completion and acceptance of the improvements in the unit or district upon which the property abuts, and one (1) payment each month thereafter until the total amount is paid; deferred payments shall bear interest from the date of such completion and acceptance at thee rate of eight(8%) percent per annum, payable monthly with each installment, so that upon the completion and acceptance of the improvements in a particular unit or district, shall be and become due and payable in such installments, and with interest from the date of such completion and acceptance. Provided. however that any owner shall have the right to pay the entire assessment, or any installment thereof, before maturity by payment of principal and accrued interest, and further provided that, if default shall be made in the payment of any installment of principal or interest promptly as the same matures, then the entire amount of the assessment upon which such default is made shall, at the option of the said City of Mesquite, or its assigns, be and become immediately due and payable, and shall be collectible, together with reasonable attorney's fees and costs of collection, if incurred.

SECTION 5. That if default be made in the payment of any of the said sums hereby assessed against said property owners and their property, collection thereof shall be enforced either by the sale of the said property by the Assessor and Collector of Taxes of the City of Mesquite as near as possible in the manner provided for the sale of property for non-payment of ad valorem taxes; or at the option of the said City of Mesquite the payment of the said sums shall be enforced by suit in any court having jurisdiction.

SECTION 6. That for the purpose of evidencing the several sums payable by said property owners and the time and terms of payment, and to aid in the enforcement thereof, assignable certificates shall be issued by the City of Mesquite upon the completion and acceptance of the said work of improvement, which shall be executed by the Mayor, signing the same or by his facsimile signature impressed thereon, attested by the City Secretary, under the impress of the corporate seal, and shall be payable to the City of Mesquite which certificate shall declare the said amounts and the or its assigns, time and terms of payment thereof, and the said rate of interest payable thereof, and shall contain the name of the owner and the description of his property by Lot or Block Number of front feet thereof, or such description as may otherwise identify the same by reference to any other fact, and if said property shall be owned by an estate, then the description thereof as so owned shall be sufficient.

TO THE STATE OF

ORDINANCE/Page 5

And the said certificates shall further provide that if default shall be made in the payment of any installment of principal or interest thereon, when due then at the option of the said City of Mesquite being the owners and holder thereof, the whole of the said assessment shall at once become due and payable and shall be collectible with reasonable attorney's fees and costs if incurred.

00295

A STATE OF THE STA

And the said certificates shall further set forth and evidence the said personal liability of the owner and the lien upon his premises, and shall provide that if default shall be made in the payment thereof, the same may be enforced either by sale of the property by the Tax Assessor and Collector of the City of Mesquite, as above recited, or by suit in any court having jurisdiction.

And the said certificates shall further recite that the proceedings with reference to making said improvements have been regularly had in compliance with the terms of the applicable law, and that all pre-requisites to the fixing of the lien and claims of personal liability evidenced by such certificates have been performed, which recitals shall be evidence of the facts so recited and no further proof thereof shall be required.

That the said certificates shall also provide the amounts payable thereunder shall be paid to the Assessor and Collector of Taxes of the City of Mesquite, who shall credit said payments upon the said certificates, and shall immediately deposit the amounts so collected with the City Treasurer of the City of Mesquite, to be kept and held by him in a special fund, and which payments shall be by the Treasurer paid to the said City of Mesquite or other holder of the said certificates, on presentation thereof to him, duly credited by Assessor and Collector of Taxes, being the Treasurer's Warranty for making such payment and the said City of Mesquite or other holder of said certificate, shall deliver receipt in writing to said Treasurer when paid in full, together with all costs of collection.

And the said certificates shall further provide that the City of Mesquite shall exercise all legal power, when requested to do so by the holder of said certificate, to aid in the collection thereof, but the City of Mesquite shall in no way be liable to the holder of said certificates or for any costs or expense in the premises, or for any failure of the said City Council or any of its officers in connection therewith.

Full power to make and levy reassessments, and to correct mistakes, errors, invalidities or irregularities, either in the assessments or in the certificates issued in evidence thereof, is in accordance with the law in force in this City, vested in the City.

SECTION 7. All assessments levied are a personal liability and charge against the real and true owners of the premises described, notwithstanding such owners may not be named, or may be incorrectly named.

SECTION 8. The assessments herein levied are made and levied under and by virtue of the terms, powers, and provisions of an Act passed at the First Called Session of the Fortieth Acts of said Session, with amendments thereto, now shown as Article 1105b of Vernon's Texas Civil Statutes, which said law has been adopted as an alternative method for the construction of street and alley improvements in the City of Mesquite, Texas, and Section 12 of Article III of the Charter of the City of Mesquite.

Section 12: The act by the Legislature of the State of Texas in 1927 and shown as Chapter 106, Acts of the First Called Session of the Fortieth Legislature together with all amendments thereof, said act with amendments being shown as Article 1105b Vernon's Annotated Revised Civil Statutes of the State of Texas, is hereby embraced in and made a part of this Charter.

SECTION 9. The assessments so levied are for the improvements in the particular unit or district upon which the property described abuts, and the assessments for the improvements in one unit or district are in no way related to or connected with the improvements in any other unit or district, and in making assessments and in holding said hearing, the amounts making assessments in one unit or district have been in no way affected by any fact or in any way connected with the improvements or the assessments therefor in any other unit or district.

SECTION 10. The fact that in order to finance these improvements in an expeditious manner creates an urgency and an emergency in the immediate preservation of public peace, health, and safety and required that the rules provided for ordinances to be read more than one time or at more than one meeting, be suspended, and that this ordinance be passed as and take effect as an emergency measure, and such rules are accordingly suspended and this ordinance is passed as and shall take effect and be in force as an emergency measure, and shall be in force and effect immediately from and after its passage.

PASSED by the City Council of the City of Mesquite, Texas, on the 15th day of September , 1986 .

Mrs. Brunhilde Nystron

ATTEST:

APPROVED AS TO FORM:

Lynn Prugel City Secretary

Elland Archer City Attorney

# PIONEER BOAD - FROM BRUTON BOAD TO SCYENE BOAD C. 85-53

		C. 30		
East Side	Asse	ssment List	Rev. 9/15/86	Page 1 Of 10
Property Owner & Address	Legal	Footage	Unit Cost/IF	Total Assessment Cost
Texas First Realty 6154 Piping Rock Houston, Texas 77057	Abst. 973, Sht. 1 Tract 7	208.71	\$60.00	\$12,522.60
W. S. Properties 5818 Lovers Drw. 407A Dallas, Texas 75225	Abst. 973, Sht. 1 Tract 2	208.71	\$60.00	\$12,522.60
Cornerstone Assembly 1510 Pioneer Mesquite, Texas 75149	Hollaman Bus. Pk. #1, Lot 3	218.07	\$10.00	\$2,180.00
Normal & Belene Pojari 2017 Misty Haven Plano, Texas 76078	Abst. 973, Sht. 1 Tract 3	208.71	\$60.00	\$12,522.60
Cornerstone Assembly 1510 Pioneer Mesquite, Texas 75149	Abst. 973, Sht. 1 Tract 9 (1000 Pioneer)	218.0	\$10.00	\$ 2,180.00
David Hollaman 1420 Pioneer Mesquite, Texas 75149	Hollaman Bus. Pk. Blk. 1, Lot 2	82,5	\$60.00	\$4,950.00
Dale Wootton 900 One Main Place Dallas, Texas 75250	Hollaman Bus. Pk. Blk. 1, Lot I	126.21	\$60.00	\$7,572.60
Jo A. Parham 1202 Ashland Mesquite, Texas 75149	Eastern Hts. #3 Blk. A, lot I	120.01	\$7.50 (SIDE)	\$900.00
Delores W. Raver 1203 Ashland Hesquite, Texas 75149	Eastern Hts. #1 Blk. B, Lot I	120.0	\$7.50 (SIDE)	\$900.00
:				

PIONEER ROAD - FROM BRUTON ROAD TO SCYENE ROAD C. C. NO. 85-53

Est Side	A 88.6	Assessment List		Page 2 Of 10	10
Property Owner & Address	Legal	Footage	Vait Cost/IF	Total Assessment Cost	ent Cost
Abner A. Aaron, Jr. 762 S. Mams Dr. Dallas, Texas 75224	Abst. 812, Sht. 1 Tract 9	668.17	\$60.00	\$40,090,20	
Bentwood Properties 11615 Forest Central, #302 Dallas, Texas 75243	Abst. 812, Sht. 1 Tract 13	300°0	\$60.00	\$18,000.00	
Investex Development 3023 Routh Street Dallas, Teras 75201	Abst. 812, Sht. 1 Tract 10	210.0	00*09\$	\$12,600.00	
Jack F. Redgate 14033 Tanglewood Dr. Dallas, Texas 75234	Abst. 812, Sht. 1 Tract 14	91.44	00.09\$	\$5,486.40	
Sigmor Corp. P. O. Box 20267 San Antonio, Texas 78220	Highland Hills #1 Blk, C, W. 125' of Lot 1	120.0	\$60.00	\$7,200.00	
Harpet Investment 13655 Preston Rd. Dallæs, Texas 75240	Highland Hills #1 Blk B, Lot 19A	175.6	\$60.00	\$10,500.00	- white and charge and ch
Eva M. Jordan 1010 Pioneer Mesquite, Texas 75149	Eighland Eills #1 Blk. B, Lot 19	356,65	\$60.00	\$21,399.00	
Eva M. Jordan P. O. Box 102 Mesquite, Texas 75149	Highland Hills #1 Blk. B, Lot 20	125.0	\$60.00	\$7,500.00	
Billy W. Roberts 1200 Chapman Mesquite, Texas 75149	Highland Hills #1 Blk. B, Lot 1	120.0	\$7.50 (SIDE)	00 006\$	en e

0C299

	Cost		····					
Page 3 Of 10	Total Assessment Cost	00*006\$	\$2,665.80	\$787.50	\$930.90	\$16,434.00	\$23,598.60	
	Unit Cost/IF	\$7.50 (SIDE)	\$10.00	\$7.50 (SIDE)	\$7.50 (SIDE)	00*09\$	\$60.00	n enn eitigs ding.
Assessment List	Footage	120.0	266.58	105.0	124.12	273.9	393,31	
Asbee	legal	Highland Hills #1 Blk. A, Lot 34	Abst. 966, Sht. 1 Tract 3	Highlend Hills #2 Blk. C, Lot 24	Highlend Hills #2 Blk. C. Lot 1	Highland Hills #3 Blk. D. Lot 1	E. Glen-Phs I & Replat of Mesq. Eghds, Bl B, Lt 78	
East'Side	Property Owner & Address	Juan Davilla 3620 Woodoak Balch Springs, Texas 75180	Friendship Bapt, Church 820 Pioneer Road Mesquite, Teras 75149	Judy G. Garcia 628 Kevin Mesquite, Texas 75149	Jose P. Valdez 600 Kevin Cir. Mesquite, Texas 75149	Dallas Kats, Inc. 14855 Spring Creek Dallas, Texas 75248	Baker & Associates 13355 Noel Road, Suite 675 Dallas, Texas 75240	

PIQNEER BOAD - FROM BRUTON BOAD TO SCIENE BOAD CAREER BOAD - 85-53

### PIONEER ROAD - FROM BRUTON ROAD TO SCYENE ROAD C.C. NO. 85-53

Sanmar/Bruton I   5950 Berkshire Ldn., Suite 1533   Tract 11   214.4"   \$60.00   \$12,864.00   \$12,864.00   \$1318 N. Central, #300   Bullas, Texas 75243   Abst. 161, Sht. 1   390.0"   \$60.00   \$23,400.00   \$13136 N. Central, #300   Bullas, Texas 75243   Abst. 161, Sht. 1   390.0"   \$60.00   \$23,400.00   \$13136 Carmody   Bullas, Texas 75243   Bullas, Texas 75149   Abst. 161, Sht. 1   120.0"   \$7.50   \$900.00   \$136 Carmody   Bullas, Texas 75149   Bullas, Texas 75227   Samuel E. Rodriquez   2129 Schirra Way   Bullas, Texas 75150   Bullas, Texas 75149   Total Assessment Cost	West Side	Asset	sment List		Page 4 Of 10
### Debra J. Cast   Debra J. D	Property Owner & Address	Legal	Footage	Unit Cost/LF	Total Assessment Cost
11311 N. Central, #300   Dallas, Texas 75243	5950 Berkshire Ln., Suite 1533	Abst. 161, Sht. 1 Tract 11	214.4	\$60.00	\$12,864.00
### Blk. 4, Lot 10    Mesquite, Texas 75149	11311 N. Central, #300		390.01	\$60.00	\$23,400.00
Blk. 3, Lot 11   SIDE	1136 Carmody		120.0		\$900.00
2329 Schirra Way Mesquite, Texas 75150  Robert J. Mallett Casa Terrace No. 1 1139 Barclay Mesquite, Texas 75149  Debra J. Cast Casa Terrace No. 1 120.0°  \$7.50 \$900.00  \$7.50 \$900.00  \$136 Ashland Blk. 2, Lot 10  Casa Terrace No. 1 120.0°  \$7.50 \$900.00  \$7.50 \$900.00  \$136 Ashland Blk. 2, Lot 10  Casa Terrace No. 1 120.0°  \$7.50 \$900.00  \$7.50 \$900.00  \$137 Ashland Blk. 1, Lot 10	6502 Symphony Lane		120.0		\$900.00
### Blk. 2, Lot 11 (SIDE)  ###################################	2329 Schirra Way	ı	160.98		\$1,207.35
1136 Ashland   Blk. 2, Lot 10 (SIDE)  Mesquite, Texas 75149  Joe B. Porter   Casa Terrace No. 1 120.0° \$7.50 \$900.00   1137 Ashland   Blk. 1, Lot 10 (SIDE)	1139 Barclay		120.0	•	\$900 <b>.0</b> 0
1137 Ashland Blk. 1, Lot 10 (SIDE)	1136 Ashland	)	120.0	, ,	\$900 <b>.0</b> 0
	1137 Ashland	•	120.0	1	\$900.00

West Side	Asse	Assessment List	Page	: 5 Of 10
Property Owner & Address	Legal	Potege	Unit Cost/LF	Total Assessment Cost
Minh Vuu 1134 Tulip Ir. Mesquite, Texas 75149	Greenbriar Hts. Blk. F. Lot 8	115.0	\$7.50 (SIDE)	\$862.50
David W. Heddin 1133 Tulip Tr. Mesquite, Texas 75149	Greenbriar Rts. Blk. E, Lot 20	144.24	\$7.50 (SIDE)	\$1,081.80
6. D. Sbover 1365 Pioneer Road Mesquite, Texas 75149	Abst. 161, Sbt. 1 Tract 5	100.07	\$10,00	\$1,000.00
D. L. Hutcheson 1231 Pioneer Road Mesquite, Texas 75149	Abst. 161, Sht. 1 Tract 9	150.0	\$10.00	\$1,500.00
Wendell Marks 1219 Pioneer Road Mesquite, Texas 75149	Abst. 161, Sht. 1 Tract 4	200.0	\$10.00	\$2,000.00
Richard Frank Butler 1122 Sierra Wesquite, Texas 75149	Abst. 161, Sht. 1 Tract 3	260.0	\$7.50 (SIDE)	\$1,500.00
Donald P. Murdock 1133 Pioneer Road Mesquite, Texas 75149	Mesquite Park #4 Blk. 23, Lot 14	75.0	\$10.00	\$756,00
Wands L. Horton 1129 Pioneer Road Mesquite, Texas 75149	Mesquite Park #4 Blk, 23, Lot 13	.0.09	\$10.00	00.009\$
Willie A. Walliken 1125 Fioneer Road Mesquite, Texas 75149	Mesquite Park #4 Blk. 23, Lot 12	.0.09	\$10.00	00.009\$
			<b>*</b>	

· West Side	Asse	esment List	?a	ge 6 Of 10
Property Owner & Address	Legel	Footage	Unit Cost/LF	Total Assessment Cost
Rousef Kavosh P. O. Box 460534 Earland, Texas 75046	Mesquite Park #4 Blk. 23, Lot 11	60.0*	\$10.00	\$600 <b>.00</b>
Darden A. McGlothlin 10527 Church Rd. Dallas, Texas 75238	Mesquite Park #4 Blk. 23, Lot 10	60.0*	\$10.90	<b>\$6</b> 00 <b>.0</b> 0
David L. Ramm 1113 Pioneer Road Mesquite, Texas 75149	Mesquite Park #4 Blk. 23, Lot 9	60.0*	<b>\$10.0</b> 0	\$600.00
Gary W. Humphrey 1109 Pioneer Road Mesquite, Texas 75149	Mesquite Park #4 Blk. 23, Lot 8	60.01	<b>\$10.0</b> 0	\$600.00
John D. Evans 225 Hardwood Tr. Mesquite, Texas 75150	Mesquite Park #4 Blk. 23, Lot 7	60.01	\$10.00	\$600.00
Carlos A. Pabon 1101 Pioneer Road Mesquite, Texas 75149	Mesquite Park #4 Blk. 23, Lot 6	60.01	\$10.00	\$600.00
Manuel N. Salinas 1017 Pioneer Road Mesquite, Texas 75149	Mesquite Park #4 Blk. 23, Lot 5	60.0	\$10.00	\$600 <b>.</b> 00
Rens G. Hillier 1013 Pioneer Road Mesquite, Texas 75149	Mesquite Park #4 Blk. 23, Lot 4	60.0	\$10.00	<b>\$600.0</b> 0
Dan H. White Route 1, Box 924 Mesquite, Texas 75181	Mesquite Park #4 Blk. 23, Lot 3	60.0	\$10,00	<b>\$600.0</b> 0
		<u> </u>		

#### PIONEER ROAD - FROM BRUTON ROAD TO SCYENE ROAD C.Q. 85-53

Legal	P	1		
	Footage	Unit Cost/IF	Total Assessmen	t Cost
Mesquite Park #4 Blk. 23, Lot 2	60.01	\$10.00	\$600 <b>.00</b>	
Mesquite Park #4 Blk. 23, Lot 1	75.67	\$10.00	\$756.70	
Mesquite Park #4 Blk. 19, Lot 18	75.01	\$10.00	\$750.00	-
Mesquite Park #4 Blk. 19, Lot 17	60.0*	\$10 <b>.</b> 00	\$600.00	•
Mesquite Park #4 Blk. 19, Lot 16	60.0	\$10.00	\$600.00	
Mesquite Park #4 Blk. 19, Lot 15	60.0	\$10.00	\$600.00	
Mesquite Park #4 Blk. 19, Lot 14	60.0	\$10 <b>.0</b> 0	\$600 <b>.0</b> 0	
Mesquite Park #4 Blk. 19, Lot 13	60.01	\$10.00	\$600 <b>.0</b> 0	
Mesquite Park #4 Blk. 19, Lot 12	60.0	\$10.00	<b>\$600.0</b> 0	
	Mesquite Park #4 Blk. 23, Lot 1  Mesquite Park #4 Blk. 19, Lot 18  Mesquite Park #4 Blk. 19, Lot 17  Mesquite Park #4 Blk. 19, Lot 16  Mesquite Park #4 Blk. 19, Lot 15  Mesquite Park #4 Blk. 19, Lot 15  Mesquite Park #4 Blk. 19, Lot 13  Mesquite Park #4 Blk. 19, Lot 14	Mesquite Park #4 Blk. 23, Lot 1  Mesquite Park #4 Blk. 19, Lot 18  Mesquite Park #4 Blk. 19, Lot 17  Mesquite Park #4 Blk. 19, Lot 16  Mesquite Park #4 Blk. 19, Lot 15  Mesquite Park #4 Blk. 19, Lot 15  Mesquite Park #4 Blk. 19, Lot 15  Mesquite Park #4 Blk. 19, Lot 13  Mesquite Park #4 Blk. 19, Lot 13  Mesquite Park #4 Blk. 19, Lot 13	### ### ### ### ### ### ### ### ### ##	Mesquite Park #4 Blk. 23, Lot 1  Mesquite Park #4 Blk. 19, Lot 18  Mesquite Park #4 Blk. 19, Lot 17  Mesquite Park #4 Blk. 19, Lot 17  Mesquite Park #4 Blk. 19, Lot 16  Mesquite Park #4 Blk. 19, Lot 16  Mesquite Park #4 Blk. 19, Lot 15  Mesquite Park #4 Blk. 19, Lot 15  Mesquite Park #4 Blk. 19, Lot 14  Mesquite Park #4 Blk. 19, Lot 14  Mesquite Park #4 Blk. 19, Lot 13  Mesquite Park #4 Blk. 19, Lot 13

## PIONEER ROAD - FROM BRUTON ROAD TO SCYENE ROAD C.C. NO. 65-53

West Side	& sse	ssment List	Page	8 Of 10
Property Owner & Address	Legal	Footage	Unit Cost/LF	Total Assessment Cost
William H. Guy 913 Pioneer Road Mesquite, Texas 75149	Mesquite Park #4 Blk. 19, Lot 11	60.0*	\$10.00	\$600.00
Espinoza Herculano 909 Pioneer Road Mesquite, Texas 75149	Mesquite Park #4 Blk. 19, Lot 10	60.01	\$10.00	\$600 <b>.0</b> 0
Jerry L. Ellis 905 Pioneer Road Mesquite, Texas 75149	Mesquite Park #4 Blk. 19, Lot 9	60.01	\$10.00	\$600.00
Robert G. Cook 901 Pioneer Road Mesquite, Texas 75149	Mesquite Park #4 Blk. 19, Lot 8	60.01	\$10.00	\$600.00
Mary M. Smith 819 Pioneer Road Mesquite, Texas 75149	Mesquite Park #4 Blk. 19, Lot 7	60.01	\$10.00	\$600 <b>.00</b>
C. G. Sanders 813 Pioneer Road Mesquite, Texas 75149	Mesquite Park #4 Blk. 19, Lot 6	60.0*	\$10.00	\$600.00
Jimmy D. Adams 2402 Viva Drive Mesquite, Texas 75149	Mesquite Park #4 Blk. 19, Lot 5	69.01	<b>\$10.0</b> 0	\$600.00
John R. Loyd 805 Pioneer Road Mesquite, Texas 75149	Mesquite Park #4 Blk. 19, Lot 4	62.0*	\$10.00	\$620 <b>.00</b>
Len Clark 714 Sara Hesquite, Texas 75149	Mesquite Park #4 Blk. 19, Lot 3	113.36	\$7.50 (SIDE)	\$850.20

West Side	Asse	Assessment List	Page	ze 9 Of 10
Property Owner & Address	Legal	Footage	Unit Cost/IF	Total Assessment Cost
Clyde R. Budman 1135 Tierra Mesquite, Teras 75149	Mesquite Park #4 Blk. 9, Lot 9	120.01′	\$7.50 (SIDE)	80*006\$
Steve Stringer, Trustee 12221 Merit Dr., #300 Dellas, Texas 75251	Pioneer Retail Addn. Bik 5,Lt 2 Abst. 975, Sht. 1, Tr. 1	386.99	\$60.00	\$23,219.40
Steve Stringer, Trustee 12221 Merit Dr., #300 Dallas, Texas 75251	Pioneer Retail Addn. Blk 5, Lt 1 Abst. 975, Sht. 1 Tr. 1	170.0	00.09\$	\$10,200.00
United Builders, Inc. 4740 Mill Creek Road Dallas, Texas 75234	Mesquire Highlands Blk 5, Lot 6	000	\$10.00	00*006\$
Flavel L. Rucker 519 Pioneer Road Mesquite, Texas 75149	Mesquite Highlands Blk. 5, Lot 7	.0°09	\$10.00	\$600.00\$
Finley & Eiggins P. O. Box 522 Mesquite, Texas 75149	Mesquite Highlands Bl. 5, Lot 8	,0°0,0	\$10.00	\$600.00
Ben D. Williams 726 Dranguet Mesquite, Texas 75149	Mesquite Highlands Blk. 5, Lot 9	.0.09	\$10.00	\$600.00

PIONEER RAND - PROM BRUTON RAND TO SCYENE ROAD

C. ( ) 85-53

PIONEER BOAD - FROM BRUTON ROAD TO SCTENE ROAD C.C. NO. 85-53

West Side	A 888	Assessment List	Pag	Page 10 Of 10
Property Owner & Address	Legal	Footage	Unit Cost/IF	Total Assessment Cost
Morman A. Ponder 10334 Port Rush Dallas, Texas 75243	Mesquite Highlands Blk. 5, Lot 10	.0.09	\$10.00	00*009\$
Charles Blenkely 302 Paldao Mesquite, Texas 75149	Mesquire Highlands Blk. 5, Lot 11	90.72	\$7.50 (SIDE)	\$680.40
Darrell Lynn Foster 303 Paldao Mesquite, Texas 75149	Mesquite Bighlands Blk. 4, Lot 40	120.15	\$7.50 (SIDE)	\$901-13
Pioneer Plaza Partnership 5956 Sherry Lu., #1900 Dallas, Teras 75225	Mesquite Highlands Blk. 10, Lot 2	214.03	\$60.00	\$12,841,80
Pioneer Plaza Partnership 5956 Sherry Ln., #1900 Dallas, Texas 75225	Mesquite Highlands Blk. 10, Lot 3	147.0	00*09\$	\$8,820.00
				¥.